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Test Review

1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

1. 1 1⁄2

2. 7 3⁄8

3.
12⁄5

4.
53⁄9

5.
35⁄4

6.
3⁄8

7.
1⁄6

8.
1⁄2

9.
1⁄4

10.
3⁄8

11. 1 24⁄44

12. 2 34⁄68

13.
68⁄69

14.
63⁄100

15. 3 13⁄15

16. 12

17.
1⁄10

18.
1⁄21

19. 10

20.
1⁄15

AnswersTry your Best

1) Write as a
mixed number.
3 = 1 1
2 2

2) Write as a
mixed number.
59 = 7 3
8 8

3) Write as an
improper
fraction.

2 2 = 12
5 5

4) Write as an
improper
fraction.

5 8 = 53
9 9

5) Write as an
improper
fraction.

8 3 = 35
4 4

6) Reduce as much as possible.
30 = 3
80 8

7) Reduce as much as possible.
4 = 1
24 6

8) Reduce as much as possible.
7 = 1

14 2

9) Reduce as much as possible.
7 = 1
28 4

10) Reduce as much as possible.
9 = 3

24 8

11) Answer as a mixed number (if
possible).

8 2 ÷ 11 =4 2
34 × 2 = 68
4 11 44

12) Answer as a mixed number (if
possible).

8 2 ÷ 3 2 =4 5
34 × 5 = 170
4 17 68

13) Answer as a mixed number (if
possible).

17 ÷ 23 =3 4
17 × 4 = 68
3 23 69

14) Answer as a mixed number (if
possible).

21 ÷ 8 1 =4 3
21 × 3 = 63
4 25 100
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15) Answer as a mixed number (if
possible).

29 ÷ 5 =3 2
29 × 2 = 58
3 5 15

16) A bag of walnuts was 4 pounds. How many one-third of a pound servings are there in
a bag?

17) A moving company had one-fifth of a ton of weight to move across town. If they
wanted to split it equally amongst 2 trips, how much weight would they have on each
trip?

18) A moving company had one-third of a ton of weight to move across town. If they
wanted to split it equally amongst 7 trips, how much weight would they have on each
trip?

19) How many one-half cup servings are in 5 cups of pecans?

20) Janet wanted her box of candy to last 5 days. If the box weighs one-third of pound,
how much should she eat each day?


